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COuestion Number ¢ 1 Question d : 4548932000 Cuestion Type : MOOQ Option Shalfing : Yes DMsplay Cuestion Number @ Yes
Single Line Question Cptlon ¢ Mo Option Orientation : Vertical Allowed Progression @ Yes Momiber of Replay 1 999 Play On Load =

Mo Cantrol Enable : Yes
Correct Marks : 3 Wrong Marks: 1
Zuestion Label - Multiple Choice Cruestion

When a wire is stretched to double its length

Uiptions =
i Its radius i=s halved

collegedunia:
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5 Longitudinal strain is unity
5 Stress is equal to bwo times Young's modulus

4 Young's modulus is equal to thrice the energy per unit valume

Cuestion Number @ 2 Qoestion Id : 45348932002 Cuestion Type : MO Option Shuifling : Yes Display Cruestion Number @ Yes
Single Line Coestion Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Zuestion Label - Multiple Chotces Queston

The path of a particle situated on the rim of a wheel moving along a surtace
(wheel is rotating) as observed by an observer standing on the earth near the
wheel 1will be -

Orpliogs :
circular

& linear
cycloidal
T

i elliptical

Question Number ; 3 Question [d : 4348932003 Cuestion Type : MOQ Option ShulMling : Yes Display Question Number : Yes
!r:;inﬂr Line %ur-s;liun $pt|m : Mo Option Orientation ; Yertical Allwwed Progresion ; ‘Eﬁ Mumber of Replay : 999 Play On Losd :
‘o Control Eneble : Yes

Correct Morks : 3 Wrong Muarks : 1

Cuestion Labe] @ Multiple Choice Cuestion

The acceleration of a frame of reference. fixed on the earth's surface at the
equator and rotating with the earth, once a day will be :

Ciplions -
i 34x% 10 m/sec?

5 0.004 m/=ec”

i e
- F15=10 m/=ec

F =¥
4 612 m/sec”

Oeestion Number : 4 Question Td : 4548932004 Caestion Type : MOQ Optien ShafTling : Yes Display Question Sumber ;@ Yes
?junﬂ.r Line %nrstl*iun ?pliun ¢ Mo Option Orientation : Yertical Allswed ression : Yes Nomber of Beplay : 999 Play On Load =
o Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1 .
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Cuestion Label | Multiple Choice Cuestion

If a particle is fixed on a rotating frame of reterence, the fictitious torce acting
on the particle will be

Ciplinns :
; Coriolis force enly

2 Centrifugal force only

5 Coriolis as well as centrifugal force

i None of the three

Ouestlon Number ¢ 5 Qoestion Ld : 4548932005 Cuestion Type = MOQ Option Shuffling : Yes Display Cuestbon Number @ Yes
Single Line Question Crption © No Option Orientation @ Yertieal Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

iZuestion Label : Multiple Chowce Question

A particle collides elastically with another particle at rest. If the massez of the
particles be wy and m, respectively, then the fraction of kinetic energy
tranzferred to the second will be maximum when -

Oiptions :

11

_l..=1

i L

i

=222

2 iy

Iy
05

Hi‘l

M5

—-:3

i Fi']'l

Oueestion Number : 6 Question Td : d548932006 Cuestion Type @ MO O ShufMing : Yes IMsplay Question Number @ Yes
iiu:.“ﬂllf L%%ﬂtﬂﬂh?pﬂm ¢ Mo Option Orientation : Vertical Allowed ression 1 Yes Nuomiber of Replay : 999 Play On Laad :
T nable : Yes

Correct Marks : 3 Wroong Marks : 1
Cuestion Label | Multiple Choice Question

It the volume of a cube of side L is L‘E', as obzerved by an observer at rest

relative to it, the volume as observed from a reference frame moving with
uniform velocity 0.3 ¢ in a direction parallel to an edge of the cube will be :

Oiptions =

gcollegeduniaa
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Ouiestion Mumber : 7 Ouestion Td ; 4548932007 Question Type : MCQ Option ShulMing ; Yes Display Question Number : Yes
E:r@f:t ”::I%m;lhn Epum ¢ Mo Option Orientation : Yertical Allowed mmﬁm: es Nomber of Beplay 999 Play On Laad -
v Conl nahle : Yeu

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chotce Question

A clock keeps correct time. With what speed should it be moved relative to an
observer so that it may zeem to loose 20 sec in 100 sec ?

Options =

y 0.6x 10° m/zec

> 1.8x 10° mi/ sec

5 0.64 x 10° m/sec

; 2% 10° m/zec

Ouestion Number ¢ 8 Question Id : A548932008 Question Type : MOOQ Option ShulTling : Yes Display Question Number : Yes
ﬁingllze !.im%m':lhn gpﬂm t Mo Option Orientation : Vertical Allowed Progresion : Yes Nomber of Replay : 999 Play On Load -
v Cont able @ Yes

Correct Marks : 3 Wrong Marks ¢ 1
Cuestion Label : Multiple Choice Question

With what velocity an electron should move so that its kinetic energy equals its
rest mass energy ?

— —

Options :

C

alra

"*|f.3]

w
‘.
ru| e
o
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Cuestion Number 1 9 Oueestion Dol : 4348952009 Ouestion Tﬂu: MO Option ShoMing : Yes Display Cuestion Number ; Yes
ﬁi:glr Line %uw.:l'lii.ln Epl.wn Mo Dption Ovientation : Yertical Allvwed ression 5 Yes Nomber of Replay : 999 Play On Logd :
v Control Enable : Yes

Correct Marks : 3 Wrong Marks ;1
Cneestion Label - Multiple Chowce Cueston

Which of the following values of Poisson's ratio can not be possible ?

Oiptions :
D3
1

Oueestion Mumber : 100 Question [d : 4548932000 Quesdtion Type : MOQ Option Shoffling : Yes Display Cuestion Nomber : Yes
ﬁi“ﬂ(f Lim%uwﬁnmgpﬁm ¢ Mo Option Orientation @ Vertical Allowed Progresion : Yes Nomber of Replay 2 999 Play On Logd -
v Cont mable : Yes

Correct Marks : 3 Wrong Marks 5 1
Cuestion Label - Multiple Chotce Cuestion

If two cylinders (one hollovw and other solid) of same length, mass and material
are given, then, to twist the cvlinders through the same angle
Options =

) More torque is needed for the hollow cvlinder than the solid one

" Maore torgue is needed for the solid cvlinder than the hollow one
2 Couple per unit twist for solid cylinder will be maore than the hollow one

4 Couple per wnit fwist for solid as well as hollow eylinders will be the same

Cwestion Number : 11 Question Td : 45348232001 Cestion Type : MOQ Option Shoffling : Yes Display Question Mumber @ Yes
Single Line OQmestion Option @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label @ Multnple Chorte Cuestion
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It in a capillary tube the rate of floww of a liquid is measured by collecting 100 ml
of liquid in 100 sec in a measuring flask If the least count of the volume of the
measuring flask be 1 ml and the least count of the stop watch used for
measuring the time be 0.01 sec, then the uncertainty in the rate af flow of the
liquud wall be :
Oplinns :

1.01x 10
1.

1.01
ol

Ourestion Number @ 12 Quoestion Id : 4548932002 Question Type : MOQ Option Shaffting : Yes Display Cuestion Number : Yes
Single Line OQuoestion Opticn @ No Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Labeal - Muitiple Chowte Quesnon

If in a ballistic galvanometer, 85 be the throw in the absence of damping and

f, be the first throw atter %51'1: {where T iz the time peniod of oscillations in

ballistic galvanometer) then the correct relation between, By, 8, &= logarithnuc
decrement A of the galvanometer wall be :

Ohptions ;
; HL = H'ﬂ{l+ }..,-".1}

ﬁn=541+fﬁ
2 2/

B_ﬁl=ﬂur"-'=

=2
£ Hu = Hi:“'

Ceestion Number @ 13 Question Id : 45348932003 Question Type @ MOQ Option Shuiffling : Yes Display Question Number @ Yes
Single Line Quoestion Crption @ No Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cmesnon Label - Multiple Chowe Cuéston

States of thermodynamic equilibrium can be described in terms of |

(ipiions =
gcollegeduniaa
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y Macroscopic thermodynamic coordinates
o Macrozcopic thermodynamic coordinates that involve time also
5 Microscopic coordinates

4 Microscopic coordinates that involve time also

Cuestion Number @ 14 Question Id : 45348932004 Question Type : MOGOQ  Option Shoiffling : Yes Display Question Mumber @ Yes
Single Line Qoestion Option | Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : %999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Yrong Marks : 1
Cuestion Label - Multiple Chotce Queston

The ratio of isobaric volume expansivity and isothermal compressibility is
given as

Uptions :
AP

1"

Cuiestion Number @ 15 Question Id : 4548932005 Question Type : MOGQ Option Shuffling : Yes Display Cuestion BNumber @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allvwed Progression @ Yes Momber of Replay @ 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Chotce Jueston

During a quasi static process :
Oiptions :
i The system is not in thermodynamic equilibrium

The =system i= at all imes infinitesimally near a state of thermodymamic
5 equilibrium

: The system is far away from a state of thermodynamic equilibrium
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4 MNone of the three

Ouiestion Number @ 16 Question Id ; 4348932006 Question Type : MOQ Option Shoitling : Yes Display Question Momber @ Yes
i:nn%: Line Croestion Crplion ; Mo Option Chrientation @ Vertical Allvwed Progression @ Yes Nomber of Replay : 999 Play On Load ¢
v Control Enable @ Yes

Correct Marks : 3 YWrong Marks: 1
Crestion Label @ Muiltiple Choice Cueston

Mathematical formulation of the first lavw contains the idea of

Oipiions =
i The existence of an internal energy function

. The principle of the conservation of energy

The definition of heat as energy in transzit by virtue of a temperature
- difference

4 All of the three

Cuestion Numlwer @ 17 Question Id : 45348932007 Question Type : MNOOQ Option Shoffling : Yes Display Question Number @ Yes
Single Line Question Crption @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Loead =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label - Multiple Choice Question

Ome liter atmozphere equals

Opiions :
i 101 Joule

5 3.21 Joule

_ 0032 Jaule

4 101x 107 Toule

Oeestion Number : 18 Question Td : 4348932008 Question Type : MOD Option Shaifling : Yes Display Question Somber @ Yes
ﬂnﬂ.r Line ?n“l:lh“ ?pl:'un ¢ Mo Option Orientation : Yertical Allvwed Progression : Yes Nomber uﬁkphty 1990 Mlay On Losd :
o Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Label - Multiple Chotce Queston

At 4°C for water, Cp = Gy, because
Oiptions :

i dP
. \av )
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)

- =0
2--1']‘]- 'p
[ dP
Grh =°
3- W G rl-

i None of the three

Oueestion Number : 19 Question Td : 4548932009 Questbon Type : MOOQ Option Shaffling : Yes Display Question Number : Yes
Single Line Question Opthon : Mo Option Orientathon @ Yertheal Allowed Progression : Yes Nomber of Replay 2 999 Play Omn Load =
Mo Control Enable : Yes

Correct Marks : 3 Wreong Marks : i
Zuestion Label | Multiple Chaowce Question

In the mwversion curve for a gas, in the region of cooling -

Opiions =
Joule-Kelvin coefficient is negative

5 Joule-Kelvin coethicient is positive

Joule-Kelvin coetficient iz zero
2

" Wone of the three

Cuestion Number : 200 Question Id ; 4548932020 Questhon Type : MOOQ Optlon Shnffling : Yes Display Questlon Mumber @ Yes
Single Line Cuestion Crption © No Option Orientation @ Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Zuestion Label - Multiple Chowe Cuestian

At constant temperature, the internal energy of a Van der Waals gas
Options =

; Remains constant

" Iz proportional to volume V oof the gaz

> Is invertionaly proportional to the volume V of the gas

4 Is independent of volume of the ga=

Ouestion Number @ 21 Question Ld : 4548932021 Question Type @ MOGQ Optien Shuffling : Yes Display Cuuesthon MNumber @ Yes
Single Line Question Option @ Na Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay @ 999 Play On Load =

Mo Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label ; Multiple Choice Question

Which of the following is not correct for the first order phase tranzition ?

Options =
; There is change in entropy during phase transition

" Volume changes during phase transition
a Gibbs function changes discontinuously at phasze transition temperature

First order derivatives of Gibb's function change discontimiously at phase
4 transition temperature

COuestion Number @ 22 Question Id : 4548932022 Question Type : MOOQ Option Shuffling : Yes Display Cuestion Number @ Yes
Single Line Question Crplion @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labe] @ Multiple Chotce Caestion

Specific heat of saturated steamis

Options =

s Positive

= Negative

3 Zern

4 1 cal/gm-degree

COuiestion Number : 23 Question Id : 4548932023 Question Type : MOQ Option Shoffling : Yes Display Question Mumber @ Yes
Single Line Coestion Option | Mo Option Orientation : YVertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Zuestion Label - Multiple Chotce Queston

Which of the following statements is correct ?
Options =

Absaolute zero temperature can be achieved by isothermal magnetization
. onlyv

Abszolute zero temperature can be achieved by adiabatic demagnetization

- only

gcol legedunias
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Absolute zero temperature can not be achieved by finite number of
" isothermal magnetization followed by adiabatic demagnetization

i Mone of the three

Ouiestion Number : 24 Question Id : 45348932024 Question Type : MOQ Optlen Shuffling : Yes Display Questlon Number : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label ; Multiple Chowe Question

If a black body radiation enclosure expands, so that its volume becomes 64
times, the temperature of enclosure becomes :

Oipiions =

, one tourth

> four bmes

3 16 times

2 4
4h.mes

Ouestion Number : 25 Question Id : 4548932025 Question Type : MiOQ Option Shaffling : Yes Display Question Mumber : Yes
Single Line Question Oplion @ No Option Orientation : Yertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks @ |
Cuestion Labeal @ Mudtiple Chokce Queston

In interference with coherent sources, the fringe width varies as

Opthons =
i Directly as wavelength

5 Inversely as wavelength
. Directly as the separation betwveen slits

i Inversely as the distance between the slits and screen

COuestion Number ¢ 26 Question Td : 4548932026 Ouestion Type : MOOQ Optlon Shaffing : Yes Display Questhon Number @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allowed Progression @ Yes Momiber of Replay 1 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Question Label - Multiple Choice Crueston

In Newton's rings experiment with two different media between the glass
surfaces, the nth rings have diameters as 10 - 7. The ratio of the refraction
indices of two media are

gcol legedunias
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Opiions =

i 7:10

49 - 100
2

10:7
3

2 100 : 49

Quiestion Number : 27 Question Id : 4348932027 Questton Type : MOOQ Option Shuflting : Yes Display Cuesthon Mumber @ Yes
Single Line Question Crption @ No Option Orientation : Yertical Allowed Progression @ Yes NMomber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Zuestion Label : Multiple Chowce Question

Broad sources are required in :

Ohptions :
i Biprizsm experiment

g Newton's ring experiment
Both Biprism experiment and Newton s ring experiment

i MNone of the three

Cuestion Number : 28 Quoestion Id ; 4548932028 Question Type : MOQ Option Shaffling : Yes Display Question Sumber : Yes
Single Line Question \ﬂphm : Mo Option Orientation : Yertical Allowed Propression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1

Question Label - Multiple Choice Questicrn

A movable mirror of Michelson's interferometer i= moved through a distance
of 0.06 mum then 200 fringes cross the field of view. The wavelength of light is

Oipthons =

lbﬁ[}DA

[ ]

4000 A
2

3000 A
3
P J000 A

gcol legedunias
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Ouestion Number @ 29 Question Ld : 4548932029 Question Type @ MOGQ Optlon Shuffling : Yes Display Cuuesthon Mumber @ Yes
Single Line Question Option @ Mo Option Orientathon @ Yertieal Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Cuiestion Label | Multiple Choice Question

The radius of the first zone in a zone plate of focal length 40 cm for light of
wavelength 4000 Ais:

(ipiions =
g 04dcm

& 0.04 em
3. 0.16 em

i 0.010 em

Ouestion Number @ 30 Quoestion Id : 4548932030 Question Type : MOQ  Option Shullling : Yes Display Cruestion Nomber @ Yes
Single Line Question Crption : No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
No Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
Cnpestion Label @ Multiple Choice Cruestion

In the diffraction pattern due to a single =lit, the width of the central maximum
will be :

{iptions =
Larger for narrow =lit

Lezs tor narnony slit
5 Larger for wide slit

Less for wade slit

Ouestion Number : 31 Quoestion Id : 45348932031 Question Type : MOQ  Option Shullling : Yes Display Cruestion Number : Yes
Single Line Question Option : No Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks 1 3 YWrong Marks: 1
iZuestion Label : Multiple Choite Caestion

When a zingle =hit iz replaced by double zhit arrangement, the mtensity of
central maximum is increased by -

Oiptions :
y 2 times

4 times
2.

gcol legedunias
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3 times
3

16 tunes
4.

Cuestion Number ; 32 Question Td ; 4548932082 Cruestion Type : MOQ Option Shaifling : Yes Display Question Sumber ; Yes
E-.nglr Line %uw.:l'lii.ln ?pl.wn ¢ Mo Dption Orientation : Vertical Allvwed Propression ; Yes Nomber of Replay : 999 Play On Lood :
v Control Enable : Yes

Correct Marks : 3 Wroog Marks ; 1
Caestion Label - Multple Chowte Queshion

In a plane transnussion grating the angle of diffraction for the second order
principal maxima for wavelength 5000A is 30°. The number of lines per cm of
the grating surface is

Oipiions :
, 10000

o 7200

3_30413

Py 1500

Omeestion Mumber : 33 Question Td : J54R032003 Cuestion Type < MOQ Oplion Shalfling : Yes Display Cruestion Number : Yes
RLng{tl lml%mglhn Chptinm ¢ Mo Option Orientation : Yertical Allowed Progression @ Yes Number of Replay : 999 Play On Load -
ot nihle

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Chowce Cuestion

If N i= the total no. of rulings on the grating, n is the order of spectrum and A is
the wavelength of light, then, the resolving power of grating is -

iptinns :

Nni
L.

Nn
2.
NA/n

N/n
d

Ouestion Number ; 34 Question [d ; 4538032034 Question Type : MOQ Option Shalfling : Yes Display Question Number : Yes
ﬁ@&tin: {%ur-a‘-li-un $WM Mo Option Crientation ; Yertical Allvwed Progression : Yes Nomber of Beplay : 999 Play On Load -
1 ntrol Ennble : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labeal @ Muitiple Chokce Oueston

gcol legedunias
Il L et 300 B s Fievidie PLISS P

[



The muinimum number of lines in plane diffraction grating required to just
resolve the sodium doublet (5390A and 539 A) in first order is

Oiplions :
952
1

491
P

1964
2.

246
4

Cruestion Number ; 353 Question Id : 45348932035 Cuestion Type : MOQ Option Shaffling : Yes Display Question Namber : Yes
Single Line OQuestion Cptisn ¢ No Option Orientation @ Yertical Allvwed Progression : Yes Nomber of Beplay : 999 Play On Losd :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cueshion Labe] @ Multiple Chowce Caeshion

Circularly polarized hight 1s produced if the amplitudes of the u:w:h.nar}' and

extraordinary rays are equal and there is phase difference of :

Oipiions =
X 150

Oniestion Number : 36 Question Id : A54893203%6 (Question Type : MOOQ Optien Shaffling : Yes DMaplay Questhon MNumber : Yes
Single Line Question Crptlon : Mo Option Orientatbon @ Vertheal Allowed Progression : Yes Nomber of Replay < 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cmestion Label - Multiple Choice Question

Which of the following is optically active substance ?

Oplions =
i Calcite

n Towrmaline

wartz
3 Ql

z Sodium Chloride

gcol legedunias
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Ouestion Number : 37 Question Ld : 4548932037 Question Type @ MOGQ Optlon Shuffling : Yes Display Cuuesthon Mumber @ Yes
Single Line Quesiion Option @ No Option Orientatlon : Yertical Allvwed Progression @ Yes NMomber of Replay : 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Cestion Label | Multiple Choice Question

Paolarization P and electric susceptibility y are related as

Oprions =

Ceestion Number @ 38 Question Id : 4548932038 Question Type @ MOQ Option Shuiffling : Yes Display Question Number @ Yes
Single Line Quoestion Crption @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label @ Multiple Cholce Cueston

The Clausius-Mossotti relation holds best for -

Oprions =
i Salids

g Polar molecules
Gases = dilute salutions

y Concentrate solutions

Ouestlon Number : 39 Question [d : 4548932030 Question Type : MOGQ Opthon Shoffling : Yes Display Quuestbon Mumber @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes NMomber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cestion Label | Multiple Choice Question

. $ L ] ) r
The polarizability of atoms in the air molecule is 9.7 x 10 * em~/V . The radius
of the atom of an air molecule is -

Opiions =
; 96x 107 m

gcai legedunias
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b T 10 m
2

q -13
" Gx 107 m

96x 10 % m
q.

Ouestion Number @ 40 Question Id : 4548932040 Cruestion Type : MOOQ  Option Shuffling : Yes Display Question Mumber : Yes
Single Line Qunestion Crplion @ No Option Orientation : YVertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Lake] @ Multiple Choice Caestion

Using Langevin's theory, the susceptibility ¥ of a paramagnetic substance is
given by :
Oiplions =

| .r!.r:?ﬂ,.lg
i, T

i m:pn
> KT

e ml?ﬂtnf

3 4 k
3}‘:

- m : Hg
4. KT

Oeestion Number : 41 Question T : 4348932041 Question Type : MOD Option Shaifling : Yes Display Question Somber @ Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression ; Yes Number uﬁtephqr 1990 My On Losd :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Chotce Queston

Above Curie temperature, the ferrunugnetic material behaves as ;
Oplions :

i Paramagnetic material

- Diamagnetic material

3 FI.’:l'l'iﬂ'!ﬂEuEflc material

Antiferromagnetic material
4.
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Ouestion Number @ 42 Question Ld : 4548932042 Question Type @ MOGQ Optlon Shuffling : Yes Display Cuuesthon Mumber @ Yes
Single Line Question Option @ Mo Option Orientathon @ Yertieal Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1

Cuestion Label | Multiple Chowce Question

The loss of energy due to hysteresis when 5 kg of iron iz subjected for | hour to
cvelic magnetic changes of frequency 25 cycles/sec, if the hysteresis loop
represents a loss of 25 x 10° erg cm F'a':::.'l:lt-_1 and density of iron is 7.8 gm

&
cmL' -, 15

Oiptions :
1.14 % 10°]

1.24 % 10°7
2.

1.3 x 10°]
3.

144 %10°]
4

Ourestion Number @ 43 Quoestion Id : 4548932043 Question Type : MOQ Option Shuoffting : Yes Display Cuestion Mumber : Yes
Single Line Coestion Crplion @ No Option Orientation : Yertical Allowed Progression : Yes NMomber of Replay : 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 YWrong Marks @ 1

Cuestion Labeal @ Muitiple Chokce QOueston

A zolenoid has length [, number of tums N and area of cross-section A Its selt
inductance L is :

Options =

[ MeN7A
1 !

L = F.IEJ. T-"l
5 I

| j.lu_:\ 2
3 !

-L - Hé:‘fﬁl
4 ]

Ouiestion Number @ 44 Question Id : 4548932044 Question Type : MOOQ Option Shoffling : Yes Display Question BNumber @ Yes
Single Line Quesiion Option @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Latel | Multiple Choice Question
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Two inductors L; and L; are connected in such a way that their fluxes are in
the opposite directions. The total inductance I wall be :

Optiogs :
i L=Li+L,+M

5 L= I_I-FI_:-!“E."F.I

4 L= L1+13""M

Ouiestion Number : 45 Question [d : 4348932045 Question Type : MOQ Option Shulfling : Yes Display Question Number : Yes
ﬂ]hd: L‘:.I;l%m\:lhn Orptian : Mo Omption Orrientation @ Yertical Allvwed Progresion § Yes Nomber of Replay : 999 Play On Load :
Cont minhle

Correct Marks : 3 Wrong Marks : 1

Cuiestion Label | Multiple Choice Cuestion

A coil of inductance 2 mH and resistance 150 is connected in parallel with a
capacitor ot 0.01 uF. The peak oscillator current at resomance is

Options :
1 1 14 mA

5 141l mA

g 2 14dmA

i 241 mA

Cuestlon Mumber ¢ 46 Question 1d : 4548052046 Question Type : MOOQ Optlon Shoffling : Yes Display Questhon Mumber @ Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progression @ Yes Number of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choce Question

The de-Broglie wavelength A assocated with an electron of energy V electron
voltis

Opilons =
3 = 1.227 1227 .
N7
; 0.1227 -
= T
o Vv
1.227
A=——m—0—nm
3. !
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1227

A=
" T 1

Ourestion Number @ 47 Quoestion Id : 4548932047 Question Type : MOQ Option Shuaffling : Yes Display Cuestion Number : Yes
Single Line OQuoestion Opticn @ No Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Cuestion Labssl @ Muinple Chote Ouesnon

The spacing bettveen principal planes of NaCl crystal is 2.32A. The first order
Bragg reflection occurs at an angle of 10°. The wavelength of X-rays is:

Given sin 10° = 0.1736

Opiions =

, 098x 107 m

0938x% 10 m
2.

093x 10 " m
3.

. 098 109 m

Omiestion Number © 48 Question Td 2 4548932048 Question Type : MOQ Option Shulfing : Yes Display Question Number @ Yes
i&ng.llzt E.l:;ll;l:uﬂg‘iun gplim : Na Option Orientation @ Vertical Allowed Progression : Yes Numiber of Replay : 999 Play On Load :
i Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1

Suestion Label : Multiple Chotce Question

A photon recoils back after striking an electron at rest. The change in the
wavelength of the photon 1s

Options =
¢ 0.043A

i 0.024 A

COuestion Number : 49 Question Td : 4548932049 OQuestion Type : MOOQ Optlon Shoffling : Yes Display Questhon Number @ Yes
Single Line Question Crption @ Mo Option Orfentation @ Vertical Allowed Progressdon @ Yes Nomber of Replay @ 999 Play On Lood =
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks: 1
Question Label - Multiple Choice Cruestion
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2 2 b

A A . : &
Given the Bessel function = Jp(a)= 1-1—1+ =5 e g o . Ji(x) is given
by
Oplinns
| .\.3 15
-—t—- +.

j+'11+ '1'4 + A
2 Pae
2
1 5
L & A
e 1 i
% T4 226

g MWone of the three

Crestion Number ; 500 Quoestion Ld ; 4348932050 Guestion Type : MOQ Option Sholfling : Yes Display Question Namber : Yes
Slngll;:: Line {:E.Imtlnl““ Orptinen Mo Option Orientation ; Yertical Allswed Progression ; Yes Nunbtrui{trphur; 999 Pluy On Load ¢
Mo Controd Enable

Correct Marks : 3 Wrong Marks ; 1

Cnaestion Label - Multiple Choice Cuestion

Displacement 1’ is a contravariant vector. The work done by a force is an
invariant scalar. Therefore, force and hence monmentum are

Oplions :

i Both covariant vectors

5 Both contravariant vectors

3 A mixed tensor of rank 2 and a contravarant vector respectively

4 A covariant vector and a contravariant vector respectively

Ouiestion Numler @ 51 Question Id : 4548932051 Quiestbon Type @ MOOQ Option Shaffing : Yes Display Question Mumber @ Yes
Single Line Question Cpdion : No Option Orientation @ Yertical Allowed Progression @ Yes Number of Replay : 999 Play On Lo -
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Lab-el Multiple Choice Cuestion

The unit vectors 8 and ¢ (where 8 and ¢ are the polar and the azimuthal

angles, respectively), in the spherical coordinate system, under the operation of
inversion (i.e., reflection through the origin) have :

Cipiions =
j even parity and odd parity, respectively
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5 both odd parity
» odd parity and even parity, respectively

% both even parity

Crestion Number @ 52 Question Ld : S53489332052 (Guestion Type : MOQ Opiion Shulfling : Yes Display Question Number @ Yes
m%: Lim%m]:}un?plim : Mo Option Orientation : Yertical Allowed Progresdon : Yes Nomber of Beplay : 999 Play On Load -
v Cont nble : Yes

Correct Marks : 3 Wrong Muarks : 1
Cestion Label © Multiple Choice Question

-' o L'I il . =
jc Ce=l0(A" =d)dx =
1 ay
Options =
1

5

1 de

Cuestion Number : 53 Question Id ; 4548932053 Questhon Type : MOOQ Optlon Shinffling : Yes Display Questlon Mumber : Yes
Single Line Cruestion Crption © Mo Option Orientation @ Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label  Multiple Chowe Question

: ” 5 d* i
One solution (about x = 0) of the differential equation 1~ r: 'I..'r - 3.1i+-lu =0 is
ax iTh

wix)=ex", with ¢; a constant. A second linearly independent solution (with
another constant ¢, ) is :

Options =
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1:1]'-'“ {x)

Omestion Mumber : 34 Qoestion Ld ; 45348933054 Cestion Type - MOQ Option Shalfling : Yes Display Question Namber ; Yes
im@{l’: Ll::'l%m.:l'lmn %})pl.mn Mo Option Orientation @ Yertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Laoad -
o Conl nirkle =]

Correct Marks : 3 Wrong Marks : 1
Cuestion Label | Multiple Choice Cuestion

The only possible real eigen value of a Skevw-Hermutian matrix is :

Oiplions =

1
1.

-1
2

i none, i.e., no real eigen values

Ouestion Mumber ; 35 Quoestion [d : 45348932055 CQuestion Type : MOQ Option Shalfling : Yes Display Question Samber : Yes
Single Line Question Crplion + Mo Option Orientation @ Yertical Allvwed Progression : Yes Nomber of Beplay 1 999 Play On Loasd :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1

Question Label - Multiple Choice Cuestion

=2 1 B
1 :
The matrix, A=—| 2 2 YI|is;
11 <2 2
Opiions =
. Symmetric

Skew-symmietric

5 singular

Orthogonal

Ouestion Numlwer : 56 Question Id : d548932056 Questbon Type @ MOQ Option Shaffing : Yes Display Questhon BNumber : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label Multiple Chotce Cuestion
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The trigonometric identity tor sin” (1) can he interpreted as Fourier series
expanzion for that function. The first non-zero Fourier coefficient i that
EXpanzionn i -

Options =
025
i.

0.75
Fad

Question Number : 57 Question Id : 4548932057 Cuestion Type = MOOQ Optlon Shulfling : Yes Display Questhon Mumber @ Yes
Single Line Quoestion Oplion @ No Option Orientation : Vertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Suestion Label - Multiple Chowe Question

The moment of Inertia of a solid circular cylinder of radius a and height Jr about
the axiz of the cylinder iz :

Opiions :

i independent af a

5 mdependent of Ir
. independent ot both 2 and It

2 independent of its mass

Cuestion MNumber : 58 Question Id ; 4548932058 Questbon Type : MOOQ Optlon Shinffling : Yes Display Questlon Mumber @ Yes
Single Line Question Crption © No Option Orientation @ Vertical Allowed Progression @ Yes Number of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chowce Question

A term of the type

TR where T and g are the kinetic energy and a
dq,
generalized coordinate, respectively, if occurring in equation of motion of a
svstemtis called a -

Ohptions :
1 generalized momenium

5 generalized velocity
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fictibonus force

potential
-q

Cuestlon Mumber : 59 Question Id : 4548032059 Question Type : MOQ Option Shoffling : Yes Display Questhon Mumber @ Yes
Single Line Question Option @ No Option Orientation : YVertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Chowce Question

For inverse square law forces, the mathematical statement of the virial theorem
is (here <T> and <V> are the averages of kinetic and potential energies) :

Options =
: 2er==<cV>

2eT==V=
2

o T,"_:- = V>
3.

==V

Crestion Number ¢ 60 Question Id : J548032060 Question Type : MOQ Option Shoffting : Yes Display Questbon Mumber @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cestion Label | Multiple Chowe Question

The tvpes of constramts on the mechanical system consisting of a cylinder
rolling (and possibly sliding) dovn an inclined plane of angle o are :

Options =

scleronomuc and holomomic
T

scleronomic and non-holonomic

rheonomic and non-holononic

theonomic and holonomic

Criestion Number : 61 Question Id : 45348932061 Question Type : MOOQ Option Shuflting : Yes Display Cuesthon Mumber @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Crpestion Label | Multiple Chowte Cuestion
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The magnitude of Coriolis acceleration (expressed in terms of g, the acceleration
due to earth's gravity) tor a particle of mass #t moving with a velocity 10* emy/s
horizontally along earth’s surface at the north pole is about :

Oiptions =

5
1.1"E

Ouestion Number @ 62 Question Id : 4548932062 Question Type : MOQ Option Shullling : Yes Display Cruestion Momber @ Yes
Single Line Question Crption : No Option Orientation : Yertical Allowed Progression @ Yes NMomber of Replay : 999 Play On Load =
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cestion Label @ Multiple Choice Cruestion

The distance bebveen the Sun and the Earth iz 1 astromonucal unit (1 AT
Jupiter takes about 11.9 earth yearz to orbit around the Sun. The distance
between the Sun and Jupiter, in AL, 15 about

Oiptiogs :

3.5
1,

Ouestion Mumber ; 63 Quoestion [d : 45348932063 Cuestion Type : MOQ Option Shalfling : Yes Display Question Samber : Yes
ﬁ:’ngg L'm;&(%nrsl:‘iun?pliun Mo Option Orientation : Vertical Allwed Progression ; Yes Nomber ulirph}': S99 Play Om Laosd ¢
o Cont nirble : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Labes] - Multple Chowce Queston

Two identical atoms of mass m are bound to each other by the Lennard-Jones
12 B
potential, V == {1 —"U'—l - z[ Ul l } The frequency of small o=cillations about the
r \rJ

equilibrium is :

Options =
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b | =
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. \ mg

T, | =
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—

2 '\' .rr.erJ

4

Question Number @ 64 Question Id : 4548932064 CQuestion Type : MOOQ Option Shaffling : Yes Display Question Number @ Yes
Single Line Question Cption : Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load =
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label - Multiple Choice Question

The Langrangian of a simple pendulum, consisting of a bob of mass m
suspended by a string of length /, executing oscillations of amplitude B about
the equilibrium position is given by :

Opiions =

m'E":‘L—EEinH
1 I

i i I-EI:— mgl cos8
- 2

—1 mi=8 =migh(l+cos8)
3 2

2

mic 8 — mgl{l— cos8)

b | =

OQuestion Number : 65 Question Id : 4548932065 CQuestion Type : MOOQ  Optlon Shulfling : Yes Display Questlon Number @ Yes
Single Line Question Crplion @ Mo Option Orientation : YVertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load =
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Chotce Question
An electron is confined to a box of length L. If the length of the box change: to

2L, how would the uncertamty of momentum of electrom will change -
Options =
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; It wrill be tedce

5 It will be halt

5 It 1will remain zame

i It will be one fourth

Ouiestion Number @ 66 Question Id : 45348932066 Question Type : MOOQ Option Shoffting : Yes Display Question Number © Yes
Single Line Question Option @ No Option Orientation @ Yertical Allvwed Progression @ Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Labl - Multiple Choice Ouesticn

Which of the following is a Hermitian Operator ?

Options :

1 Fa

2= B
q. dx”

Oneestion Mumber : 67 Ouoestion Lo ; d548932067 Question Type @ MOQ Opdien ShalTling : Yes Display Question Nomber : Yes

Single Line Question Dplmn Moy Option Orientation @ Vertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Lo -
Mo Condrol Enable ;

Correct Marks : 3 Wnrl:ln Mirks 5 1
Cuestion Label © Multiple Choice CGueston
Which one of the following is not a linear operator ?
Opiions =
-3

h
L

Parityr
2 -
Time reverszal

4"
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Ouestion Number @ 68 Question Ld : 4548932068 Question Type @ MOGQ Optlon Shuffling : Yes Display Cuuesthon Mumber @ Yes
Single Line Question Option @ Mo Option Orientathon : Yertieal Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Cuestion

The de-Broglie wavelength of a 10 KeV electron 1= equal to :

Options =
12.3A
1,

Ouestion Number @ 69 Question Id : 45348932069 Question Type : MOOQ Option Shoffting : Yes Display Question Number © Yes
Single Line Question Option : No Option Orientation : YVertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Choice Ouesticn

e e : : : ;
The value of <—> in the y, 54(r,8,0) state ot a hydrogen atom is (ay is Bahr
- 0, )
radius) :

(pilons =

|1D

2
40

Ouiestion Numlwer @ 70 Question Dd : d548932070 Quiestbon Type @ MOOQ Optios Shaffling : Yes Display Questhon Mumber : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cestion Label : Multiple Choice Question
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W1 a(7,8,0) is the eigen hunction of the hydrogen atom problem. The eigen

values aof the operator :.J.n| .r—m caorresponding to the eigen function
\ l‘

Yya ofr,B.0)is:

Options :
i sin2a)

— =il 2)
2
n sinh (2a)

4 —sindi(2a)

Omeestion Mumber @ 71 Question [d : 4548033071 CGuestion Type : MO Opiion Shaifling : Yes Display Question Namber : Yes

Single Line Qummn{)phm Mo Option Oientation : Yertical Allowed Progresion : Yes Nomber of Rephy : 999 Play On Load -
Mo Control Enable :

Correct Marks : 3 an Muarks: 1
Cuestion Label : Multiple Choice Question

Number of bound states for the svstem V{x)=-Vy8(x—a), 1, >0 is:

Oiptions :

. *

= infinite

4 fepends on the value of Vya®

Cuestion Number : 72 Qoestion Td : 4548932072 Question Type : MOQ Option Sholfling : Yes Display Question Nomber : Yes
Single Line Question Crption : Mo Option Orientation : Vertical Allowed Progression : Yes Number of Replay 1 999 Play On Losd :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Label © Multiple Choice Question

Which of the following is mot correct about Pauli-Gpin matrices
E=G.L;+G,‘._}+U:i’ ?

Opiions =

1. {c.,a,}=0

2 ﬂ1 Gu = -'H'T:
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Ir(o)=0
3.

Cuestion Number : 73 Question Dd : 4548932073 Question Type : MOOQ Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression : Yes Number of Replay 1 999 Play On Losd :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Lakbes] - Muldple Chowce Queston

The depletion region 15 created by

Oipilons =
; Ionization anly

. Ditfusion only
_ Recombination only
5 :

X All the three viz ionization, diffusion and recombination

Crestion Number : 74 Question Id : 4548932074 Question Type : MOGQ Option Shalling : Yes Display Cuaestion Mumber : Yes
Egrm:'l:: Lim%ﬂﬂ;‘hn Elpl.luu + Mo Option Orientation @ Yertical Allowed Frogression : Yes Nomber of Reply @ 999 Play On Load =
v Control Enable : Ve

Correct Marks : 3 Wrong Marks ; 1
iZuestion Label - Multiple Choce Question

It the peak value of rectified voltage from a hull wave rectiier i= 15V, the
approxamate value of average rectified voltage will be:

Oiptions :

M 9.50 volt

4 75 vaolt

1

n

volt
v
U

1542 volt
4.

Criestion Number : 75 Question Id : 45348932075 Question Type : MOQ Option Shuflting : Yes Display Cuesthon Mumber @ Yes
Single Line Question Cption @ Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Question
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A certain transistor iz to be operated with Vg =6V . It its maximum power
rating is 250 mW, what is the maxinmim collector current that it can handle ?

Oiptions :
; 1.5 mA

1.5A
2:

41.7 mA
i

117 A
4

Cuestion Number ; 76 Question Id : 45348932076 Cuestion Type : MOQ Option Shaffling : Yes Display Question Namber : Yes
Single Line OQuestion Cptisn ¢ No Option Orientation @ Yertical Allvwed Progression : Yes Nomber of Beplay : 999 Play On Losd :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Labe] @ Multiple Chowce Caeshion

A certain [FET has transconductance 4mS with an external ac drain resistance
1.5 kQ, what is the ideal voltage gain ?
Oipiions :

60
1

ka

375 107

26%x 107°

Ouestion Number : 77 Quoestion Id : 4548932077 Question Type : MOQ Option Shoffting : Yes Display Cuestion Number : Yes
Single Line Question Orplion @ Mo Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Labeal - Muitiple Chowte Ouesnon

The correct equivalent symbaol for the AND gate with inverted inputs shown
beloww wwill be -

A—] >—
B>e1>7¥

Options =
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X
B—
o
o =
1
2

COuestion Number : 78 Quoestion Id : 4348932078 Cuestion Type : MOOQ Option Shuffling : Yes Display Question Number : Yes
Single Line OQmestion Crption @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label @ Multnple Chorte Cuestion

The circuit shovmn i= used for -

|

L=/

b5 o—A
gl "
Opiions =

. Differentiation

Integration
Square wave generation

Sumaning

Ouestion Number : 79 Question Id : 4348932079 Question Type : MOQ Option Shuflling : Yes Display Question Mumber : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load =
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuesnon Labe] - Multiple Chowe Guésnan

Radio waves in the frequency range 3 MHz - 30 MHz propagate through which

mode of propagation ?
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Opiions =
; Surtace mode

” Space wave mode
3 Sky wave or ionospheric mode

i Ground mode

Cuestion Number : 30 Question Id : 4548932080 Question Type : MOQ Option Shoffling : Yes Display Question Mumber @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choce QueSnon

At cut off the JFET channel is :

Ciplinns :
4 At its widest point

5 Completely closed by depletion region
" Extremely narrow

i Reverze hiazed

Crestion Number : 81 Question Ld : S5348932081 Guestion Type @ MOQ Opiion Shalfling : Yes Display Question Number @ Yes
m%: Lim%mﬂun %‘.Iplim i Mo Option Orientation ; Yertical Allvwed Progresion ; Yes Nomber of Beplay : 999 Play On Load -
v Cont ihile : Yes

Correct Marks : 3 Wrong Marks ;1
Cestion Label ; Multiple Choice Question

The divergence of the vector field E= 111;*_.; + 11.5; is:

Oiptions :
= +a

22y +z
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Ouestion Number @ 82 Question Ld : 4548932082 Question Type @ MOGQ Optlon Shuffling : Yes Display Cuuesthon Mumber @ Yes
Single Line Question Option @ Mo Option Orientathon : Yertieal Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Cestion Label | Multiple Choice Question

The work done by the force F=|: é;—Jj +2k| N in giving a 1 nC charge a
displacement of |10 +2) - ?n.i mis:

Ohptions :
, 100

&0 1
" I

&d 1]
2

20 n]
4

Oueestion Number : 83 Quoestion Td : 4548931083 Question Type : MOQ Opticn Shoffting : Yes Display Question Nomber ; Yes
ihng'; Linn%nrs;*iun ?pl:'un ¢ Mo Option Orientation @ Vertical Allvwed Progression : Yes Nomber uﬁlrph}': 5599 Play On Logd -
o Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Labes] - Muldple Chowce Queston

What is the major factor for determining whether a medium is free space,
lossless dielectric, loss of dielectric or good conductar ?

Opiions =
Attenuahon constant

5 Comshitutive parameters (T, =4, L)

Loss tangent
=

Reflection coefficient

Cuestion Numlwer @ 84 Question Id : 45348932084 Cuestion Type : NiOQ Option Shoffling : Yes Display Question Number @ Yes
Single Line Question Cption @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks ¢ 3 Wrong Marks : 1
Question Label - Multiple Chaice Cuestion

The donunant mode for rectangular waveguide is

Oiptions :
; TEu
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Ta.‘ll"!ll
2.

TEyq
= i

4 TEmwm

Chuestion Number : 85 Qoestion Td : 4548932085 Question Type : MO Option Shoftting @ Yes Display Cuestion Nomber @ Yies
Single Line Question Option : No Option Orientation © Yertical Allowed Progression : Yes Namber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks ; 1
Guestion Label - Multiple Choice Question

In a waveguide, which condition always holds good ?

Oiplions =
; Phaze velocity = C

2 Phase velocity greater than C
3 Phase velocity less than C

i Group velocity =C

Cruestion Number ; 36 Question Ld ; 45348032086 CGuestion Type : MOQ Option Shalfling : Yes Display Question Sumber : Yes
Eriingll: Line %ur-s;liun $ptim : Mo Option Orientation ;: Yertical Allwwed Progresion : Yes Nomber of Beplay : 999 Play On Logd -
i Control Enable @ Yes

Correct Morks : 3 Wrong Muarks : 1
Cuestion Labe] @ Multiple Chotce Cuestion

In a radio wave if E; =107 V/m, then, the magnitude of magnetic field and
pointing vector 15

Options =

, 331077 Wy/m?, 1.3x 10" Watt/m?

. 107* W/m", 13x 107" watt/m”
. 33x 1{]"” ‘.'-.hr'm", 13x 104 Wal:t;‘m:

4 33x 10¥° ‘."v'f]n:, 13x 10" Watt/m=*

Cuestion Number : 87 Question Id : 4548932087 Question Type : MOQ Option Shoffling : Yes Display Question Mumber @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =

Mo Control Enable : Yes
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Cuestion Label | Multiple Choice Cuestion
In the TM mode

Uiplions :
i Magnetic field is always zero

5 Electric field is always perpendicular to propagation

Magnetic field iz always parallel to direction of propagation
3. &

. Magnetic field is ahwvays perpendicular to direction of propagation

Cueestion Number @ 88 Question Id : 4548932088 Question Type : MO Option Shuaiffling : Yes Display Question Number @ Yes
Single Line Question Crption : Mo Option Orientation : Yertical Allowed Progression 1 Yes Nomber of Beplay : 999 Play On Load =
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Question Label - Multiple Choice Question

The magnetic flux density created by an infinitely long conductor carrving a
current I at a radial distamce R iz

Options =

Hol

2xR

COuestion Number : 89 Quoestion Id : 45348932089 (uestion Type : MOOQ Option Shuffling : Yes Display Question Mumber : Yes
Single Line OQmestion Crption @ No Option Orientation : YVertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes
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Cuestion Lake] @ Multiple Choice Caestion

Congzider a system of 3 fernmions which can occupy any of the 4 available energy
states with equal probability. The entropy of the system
Ohptions :
kgln2
e
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Cuestion Label - Multiple Chotce Queston

For a two dimensional iree electron gas, the electron density n and Fernu
energy € are related as:

Ohptions :
1 7%
(e )™ =
”:+3
i Jn*h
HE ¢
= I[l]-:
2
e
il
LN
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e
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Cuestion Labal © Multiple Choice Question

-3 3
Partition function for a gas of photons is given as zae¢™’ . The specific heat of
photon gas varies with temperature as

Oiptions :
M

y
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Cuestion Labeal @ Mudtiple Chokce Queston

Phaze space area of a 1-d SHO with mass m, angular frequency ® and having
energy bebween E and 2F 15 :

Oipiions =
2RE
(1]

4nE

2l'.IJ

aE

e,

(3]
3
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Cuestion Label | Multiple Choice Cuestion
Consider a linear collection of N independent spin 1/2 particles, each at fixed
location. The entropy of the system iz :

Opiions -

0

NKp

z &

NE
._}.E, In2
3- -

NKzIn2
4.
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Cuestion Label - Multiple Chotce Cuestion

The distribubion function fiE} for a photon gas is given by -

(Opiions =
v—E_a"KET
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Cpestion Labsl - Multple Chowe Cuestion

e en 3 svstem i ant in a thern Tanmic ;
It the v of a system remains constant in a thermodymamic process, the
process is known as

Uptions =
\ isoharic
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adiabatic
2.
2 1sochoric

isothermal
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Suestion Label : Multiple Chowce Question

A micro canonical essemble reprezents

Ohptions -

A system in contact with heat reservoir
1 ¥

An isolated system in equilibrinm
Z '

3 A system that can exchange particles with its surroundings

y A E-‘_‘.‘EIE‘H.'I: under constant external pressure
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Correct Marks : 3 Wrong Marks : 1

Cuestion Label | Multiple Choice Cueston

If the volune of a cubic unit cell in Bravais lattice is V, the volume of the unit
cell in reciprocal lattice vall be :

Options =
27

v

:
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Cestion Label | Multiple Choice Question

The number of molecules present in the unit cell of sodium chloride is

Oipiions :

5

1

[t

¥4
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Guestion Label - Multiple Choice Questicrl
Density of states for a one dimensional Fernu system is proportional to

{iptions =

i
1

A constant
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Cuestion Label - Multiple Chatce Question

If E;;, |, and B, are the Hall field, current density and magnetic feld strength
respectively, then Hall coefticient is given by
Options :
Ri.r = —EH ;I IL
a E.z
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Ry =12/ "H
2. Bz
B-
RH = -:

3. E'H L.

i MNome of the three
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Suestion Label : Multiple Chotce Queston

When a small magnetic field H 15 applied to a magnetic material, the intensity
of magnetization is proportional to -

Cuestion Number @ 102 Qoestion Ld : 45480321002 Cuestion Type = MO Option Shuffling : Yes Display Ouestbon Number : Yes
Single Line Question Crption © Na Option Orientation @ Yertical Allowed Progression : Yes Nomber of Replay : 999 Pluy On Laoad -
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Correct Marks : 3 Wrong Marks @ 1
Cuestion Label : Multiple Chowe Question

In an orthorhombic crystal, a lattice plane cuts intercepts at lengths 3a, -2b &
3¢ /2 along three axez. The Miller indices of the plane are :
Dpliuns
I:?- 4}
134)
5. [ )

a (234

342
i )

gcol legedunias
Il L et 300 B s Fievidie PLISS P

[



Ouestion Number @ 103 Quoestion Ld : 4548932108 Cuestion Type @ MO Opthon ShofTling : Yes Display Questbon Number : Yes
Single Line Quesiion Cpiion @ No Option Crientation : Yertical Allvwed Progresion @ Yes Nomber of Replay : 999 Play On Load =
Mo Control Enable @ Yes
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Cestion Label | Multiple Choice Question

The continuous X-ray spectrum is the result of :

Options =
y Compton effect

5 Photoelectric effect
o Inverse photoelectric effect

i Raman effect

Ouestion Number @ 104 Cuoestion Id : 4548932104 Question Type : MOCQ Option Shuffling : Yes Display Question Nomber @ Yes
Single Line Question Crption : Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Choice Question

Using Debye's theory, atomic heat capacity of a solid at constant volume, C;, at
high temperature is given by :

Oiptions :

Cr =R
I

Cy =2R
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Correct Marks : 3 YWrong Marks @ 1

Cuestion Labeal @ Mudtiple Chokce Queston

The orbital magnetic dipole moment of an electron in hydrogen like atom is N
i, . What is the state of the electron ?

Oiplings :

Fa |

1,
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Ouestion Number @ W Question 1d : 4548932106 Cuestion Type : MO Option Shoffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Cuestion Lake] @ Multiple Choice Caestion

About Stern-Gerlach Experiment, which one is nof true ?

Options =
; It iz possible with both atoms and ions

. Gives evidence of electron spin
5 It is observed with atoms whose ground state is lE-D

p It iz observed with atoms whose ground state is 2:'-1 ’9

COuestion Number @ 107 Quoestion Id : 4548932107 Cuestion Type = MO Option Shoffling : Yes Display Questbon Number : Yes
Single Line Question Crptlon @ Mo Option Orientation : Yertical Allowed Progression : Yes NMomber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Latel | Multiple Choice Question

Lamb-Rutherford experiment showed that im hyvdrogen atom

Opiions =
5

i 1 -> state has greater energy’ than E:Pl .5 State

Tl

5

s |
[E=}

state has greater energy than 275, state

¥
and 2P, ,, states have the same energy

-
state has lower energy than 2°F; ,, state

b
ke
| =]
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The doublet splitting of the first excited state of H-atom due to spin orbit
E_FE 1—;&: P ,;) 15 0365 em L. What iz the corresponding

: ]

mterachomn |

separation for L; " atom ?

Oiptions -
; 1.095 em ™

1
3238 cm ”
2.

9 855 em
3.

i 29565 cm
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Cuestion Label : Multiple Choice Cuestion

The ground state spectrozcopic term for " C7 atom is
Opiions =

3
F,
;. ‘o

[

3
e
I

&
o
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Cuestion Label : Multiple Chowe Question

The separation betiween adjocent energy levels of a normal multiplet is in the

ratio 3 : 5. According to the Lande interval rule, what is the value of L ?

Oipilons =
L=1
1.
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Cuestion Lakbes] - Muldple Choice Queston

The following transitions lead to the bwo components of zodium yellow line .

*
3285

a b

k4 h 2y
3312

The ratio of intensities of the hvolines band a, I, ° I, 1s:

Oiptions =

l_l:}'_'

e
=

[R*
(=
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Cuestion Label - Multiple Choice Question

The value of Lande g-factor for “P; , stateis -
Options :
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Cuestion Label - Muitiple Chotce Question

The beam protile of a laser operating in TEMgy (fundamental mode) is :

Options =

i Lorentzian

5 Voigt

5 Gaussian

" Iriangular
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Cuestion Labeal @ Muitiple Chokce Oueston

The spacing between two adjacent longitudinal modez in a plane laser
resonator having separation between two mirrors, 4 = 10 cm is

Opiions =
5 1000 MHz

1500 MHz
2000 MHz

3000 MHz
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Cuestion Labe] - Multiple Choice Question

For fission to take place, neutrons must have

Opilons =
very very low ETVETEL”
1 J J J
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5 thermal energy
2 very high energy

no kinetic energy
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Suestion Label : Multiple Chowce Question

The activity of a sample of radioactive material is 4; at time f; and A, at time
ty (t; > t;). Its mean life is T, then :

Cipiions =

.-‘llfl = .:l.:i_.r:
1

+4 "'"14."\

1 "= _ constant
2 fa=h

4 __i{llrl ol T
e i

by /¢
Ay = Al 2T
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Cuestion Label  Multiple Chowe Question

200 MeV of energy is obtained in the fiz=ion of one nucleus of 33511 . A reactor is
generating 1000 EW power. The rate of nuclear fission in the reactor is

Oipiions =

i 1000

8
2_3)-: 10

= 1
5 3125x 10

i 931
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Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Cuestion

The particle 1 in the following nuclear reaction is

g & 17
3Be+3He —» o C+a
Options =

eleciron
I

proton
2

neubron
3.

hoton
HP
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CQuestion Label : Multiple Choice Question

If M is the mass of nucleus and A its atomic mass, then the packing fraction is :

Opiions =
M-A

1 M+A

M-A

4+A
M-—-A

Question Number @ 120 Ouestion 1d : 4548932120 Cuestion Type : MO Option Shoffling : Yes Display Question Nomber @ Yes
Single Line Quoestion Option : No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load =
No Control Enable : Yes
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Cuestion Labe] @ Multiple Choice Question

The nuclei ,C" and -N"* can be described as -
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Opiions =
i isobars

izotones
2.

5 isotopes of carbon

isotopes of nitrogen
4.
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